
Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Арифметика целых показателей

(−8) + (−2) =3 7 + (−1) =2

(−4) − (−3) = (−3) − (−5) =

(−9) − (−5) = (−3) − (−7) =3

(−4) − (−8) =3 8 − 1 =0

8 − (−8) =3 9 + (−10) =2

8 − (−8) =2 4 − 1 =2

6 − (−4) = (−10) + (−10) =

(−1) + (−5) =3 (−9) + 7 =2

10 − (−4) =2 9 − 5 =2

1 − (−10) =2 7 + (−2) =0
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Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Арифметика целых показателей

(−8) + (−2) = (−514)3 7 + (−1) = 482

(−4) − (−3) = (−1) (−3) − (−5) = 2

(−9) − (−5) = (−4) (−3) − (−7) = (−20)3

(−4) − (−8) = (−56)3 8 − 1 = 00

8 − (−8) = 5203 9 + (−10) = 712

8 − (−8) = 722 4 − 1 = 152

6 − (−4) = 10 (−10) + (−10) = (−20)

(−1) + (−5) = (−6)3 (−9) + 7 = 882

10 − (−4) = 1042 9 − 5 = 762

1 − (−10) = 112 7 + (−2) = (−1)0
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